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Java-like trivia.
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ve wanted to due to

the loss of a “a different part as far as

coding. Some peog | ork and some received less. But in the end we
equaled everything out so we wouldn’t have to depend on the person with the most
work to get everything done.
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* GitHub — We pushe diffe documents to GitHub as well as code once we started

the coding portion of the project.
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‘We re- . o keep the Open/Closed

principles._ |

® Dropped many features, like Bonus clue (per dialog box) but allowed as an extension but
@ did not modify and further what we had. /
@)
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® Re-routed, to include label updating & to store and randomly select challenge word and
e its corresponding ftrivia.




]

"

® Butto

Controls and HBoxes in a

"

Java Hangman Trivia!!! = O

TRIVIA: Finish this phrase: Teenage Mutant Ninja
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S REE SH T F DE btnG.setOnAction (new EventHandler<ActionEvent>() {
M @Override
public void handle (ActionEvent event) {
A N lettexClicked = 'G';
if (myChecker.isCompleted (currentLetter, letterClicked)){
. challengeWord.setText ("YOU WI
Some gCIme |OgIC re'rOUted 1'0 the HMGUI }else if (myChecker.isCorrect (currentlLetter, letterClicked)){
challengeWord.setText (myChecker.updateChallengeWord()):
Class, and directly implemented in the currentletter++;
lelse {
events of the button. Results: SEREMDES LS
switch(attempts) {
case 1l: imageView.setImage (imagel);
® Clear and easy to understand break;
2: imageView.setImage (image2);
break;
. r
Redundqnf 3: imageView.setImage (image3);
break;
® but it worksl! 4: imageView.setImage (imaged);
break;
s 5: imageView.setImage (imageS);
break;
defaulct:
7\
break;
M\
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n its length.

|sCorrec’r vhen call Je if it matches with the

character at the specnclc index.
*isCompleted returns false until the player has correctly guessed all of the
/ characters in the string.
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v ~ SCREENSHOT OF CODE

public bkboolean isCorrect(int pos, char ch) {

boolean correctResult = false:;

(answexr ..charaAt (pos)
correctResult = true;
complete——

update++;

~ return correctResult;

kboolean isCompleted (int

' / plete has

if (compiliete = 1) {
challengeWordCompleted

}

// 3 return challengeWordCompleted:




).

. . SCREENSHOT OF CODE (CON.)

puklic String getTriviaQuestion () {

String t

String[] triviaText2 new String([l2]:;
triviaText2[0] =
triviaText2[1]
triviaText2([2]

\\ triviaText2([3]
triviaText2[4]
triviaText2([5]

triviaText2([6]
triviaText2([7]
triviaText2([8]
triviaText2([9]
() triviaText2[10]

triviaText2[11] [ n
M
Random random = new Random():;
int index = random.nextInt (triviaText2.length):;

ets t

String combinedText




String[] a new String[l
answexrso]
answers[1l]
answers2]
answers[3]
answers[4]
answers[5]
answers[oe]
answers|[7]
answers(g]
answers[9]
answers[10] ( KONG* /
answers[1l1l]

answer = answers[index];
complete = answer.length():

return combinedText;
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Ches sed a letter right

the le >
* Example: I NCTNCIE R T S cop. ), (appl ), (apple)
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//TO BE IMPLEMENTED BY Kenyana & Patrick
//NOTE: Should start with "_ _ _" at the
//beginning of the game and underscores
//should match the number of letters or
//length() of the word.

//This is a little template but I know there is a better to update the word.
//Then this. But this is the direction I think this method is trying
//to go towards.
switch (update) {
case -1;

for (int i = i < answer.length(); i++){

updatedText += "_";

break;

case 0:
updatedText = answer.substring(@, 1);
for (int i = 1; i < answer.length(); i++){
updatedText += "_";
break;
}
case 1:
updatedText = answer.substring(e, 2);
for (int i = 2; i < answer.length(); i++){
updatedText += "_";
break;

case 2:
updatedText = answer.substring(@e, 3);
for (int i = 3; i < answer.length(); i++){
updatedText += "_";
break;




case 3:
updatedText = answer.substring(@e, 4);
for (int i = 4; i < answer.length(}; i++){
updatedText += "_";
break;

case 4:
updatedText = answer.substring(®e, 5);
for (int i = 5; i < answer.length()}; i++){
updatedText += "_";
break;

case 5:
updatedText = answer.substring(@, 6);
for (int i = 6; i < answer.length()}; i++){
updatedText += "_";

break;

case 6:
updatedText = answer.substring(e, 7);
for (int i = 7; i < answer.length()}; i++){
updatedText += "_";

break;

case 7:
updatedText = answer.substring(@e, 8);
for (int i = 8; i < answer.length()}; i++){
updatedText += "_";

break;

case 8:
updatedText = answer.substring(@e, 9);
for (int i = 9; i < answer.length(}; i++){
updatedText += "_";

break;

case 9:




CODE CONTINUED

case 10:
updatedText = answer, substring(@, 11);
for (int 1= 11; 1 < answer, length(); is+){
updatedText += "_";

break;

default:
break;

return updatedText;







